1970 FE=FUKH[6] 3 [6] (1FIF) dhim

(1)
a?+2

1<a<2 THLIMH, X, = 2

X0 l<x,

a?+2 _a2—3a+2:_(a—1)(a—2)ow

a—x,=a- = a-x,>0 ..x,<a
2 3 3 3 2 2
L7eho T, 1<x,<aTdh ¥V, n=2D & ZpAL,
. Xk2+2
n=kDLE, 1<x, <a b]WETHE, Xy = X0 l<x,
2 2
2 _ —
a—xM:a—Xk il >a-2 +2:_(a QIC 2)>OJ:D a—X, >0 X <a

3 3
L7eoT, 1<x,, <aThV, n=k+10D & & b7,
Plbizky, (OnmaEhiz, GEFK)
(1)

n=20&x x

e X +2 e X, —1=(xnl +1
3

n 3 3 )(Xn—l - 1)

()XY, x4, <aTHhHHND X, —1:(X"‘;+1J(xn_l -1 <(6‘T+1J(xn_1 -1
a+l

L7=» T, xn—lé(TJ(xn_l—l)T‘ﬁ)D\ (m) RS niz, GEFIFE)

(»)

(1) ZAR D IRLHANWD &
2 n-1 n-1
e Tk e R R e IR e BT

a+1)""
.'.0<Xn —1§(Tj (a—l)

2 a+1 ) _(a+1\"
1<a<2J:D\ §<T<1T&)éﬁ)% lim T (a—l):0

nN—o0

L7eBoT, EE&HI bOFIHIZEY  lim(x, -)=0 . limx, =1 - (%)

X () (m) ik, Sk,
A () 1E BRI lim x, 23K K0 SCGRIT limx, =127/, &> Tno,

n—oo



